Parts List




Top and Bottom Shelf Assembly

1. Attach support beams:
e Attach inner beams to side beams using M3 washers and M3x20mm screws.







Post-to-Shelf Assembly

1. Attach the rubber feet:
e Secure the rubber feet to the bottom support beams using M3 hex nuts and M3x6mm
bolts.

2. Attach the Bottom Shelf and Support Beams:
Threaded rack:

Start a M3x8mm bolt, washer, and hex nut through the bottom hole in the long leg of
arack post.



Square hole rack:

Start a M3x8mm bolt, TWO washers, and hex nut through the bottom hole in the
long leg of a rack post.




e Insertthe hex nut into the slot of the bottom shelf side beam.




Threaded rack:

Insert a support beam underneath the short leg of the rack post. Attach the beam to the
side beam (and rack rail) using a M3 washer and M3x25mm screw.

Square hole rack:
Insert a support beam underneath the short leg of the rack post. Attach the beam to the
side beam (and rack rail) using a SQUARE washer, M3 washer and M3x25mm screw.




Note: The 25mm bolt should go through the bottom support beam and into the
threaded hole at the end of the side beam.

e Attach another rack rail to the bottom shelf using the same methods, above.

3. Attach the Top Shelf to the Support Beams:
e Attach the top shelf and support beam to the rack rails using M3 washers and
M3x25mm screws.






Attach the Remaining Two Rack Posts to the Top and Bottom Shelves:









